MSCCH-06

June — Examination 2024

M.Sc. (Final) Examination
CHEMISTRY

(Reaction Mechanisms, Pericyclic Reactions,
Organic Photochemistry, Stereochemistry)

Paper : MSCCH-06

Time : 3 Hours | [ Maximum Marks : 80

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 8x2=16
(Very Short Answer Type Questions)

Note — Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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What are benzynes ?
A M § 7

How does the polarity of solvent affect the
rate of substitution ?

oot = gaar gfaeeras sfufean i &9 gurfaa
FA T ?

What are pericyclic reactions ?

Iasfrees Afuframd wn ad § 2

What is Quantum yield ?

e dAfey 7 T ?

What do you mean by Photosensitizer
isomerisation ?

JeRTSTEACeh THEIERI0 § 379 = 9Hed © 7

What do you understand by term
conformation ?

HEU Y€ 9 TR R WIEH T ?
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(vii) What is significance of the word rotamer ?
TS I1o5 1 TNefehar 1 § 2

(viii) Which conformation of cyclohexane boat or
twist boat is more stable and why ?

TSR & AT o AT Akl 98T H A

sty ToE ¥ SR F ?
Section-B 4x8=32
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 8 marks.

s —«
(g AT 999)

feor .- forsl 9 g3l & SR SIfSUl M A9 ST &I
Afreraw 200 I8l H UREHG HifST Yodw UeA
8 3T T T

2. Write short notes on the following :
(1) Saytzeff rule
(i) Hofmann elimination reaction
frafafed w= fewfrer fafe
(i) T w1 e
(ii) eHUA fociaa stfufean
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. Explain the following concepts :

(i) Huckel-Mobius system

(i) FMO approach

frafafed staamomsti # T9=msT
() THA-HfeEE T

(i) FMO gftesnro

. Write short notes on the following :

(1) Claisen rearrangement

(1i1)) Cope rearrangement

frfafea w dfea fewfrr fafen .

(i) oA AN

(i) w9 A=

reaction.

. Give three examples of 1, 6 Triene Cyclisation

1,6 21359 ThiohIul Af9fshan & i Sereor SifeTg |

. Discuss in detail various excited state of benzene.

S @) fafi= Safsa steeensti &) farar & I9=msu |
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7. What are the various applications of the photo- G us—H

chemical reactions of the aromatic compounds ? (G 3w W)
. VR . e 2 fafim fder .- =T & ool & SR ST 319 3T SR 1 SAfeshan
. 500 vl § REiEa SIS &% Y9 16 31F # ¥
IUAFTATSA hl AR | . .
10.(1) Write mechanism of pinacole-Pinacolone
8. Discuss conformations of FEthane. Which rearrangement.
conformation is more stable and why ? fsla-fsian  qafd=ma « gfer  feogoft
TIT & H&Ul B UM TS | HIET G&Y 3feeh Tre feter |
T R F 2 (i) Explain the structure and stability of

Carbonium ion.

9. (1) What is flipping ? Explain with example. e T g S |

A T AW T ? I Hew T (ii1)) Explain Arndt-Eistert synthesis.
(ii)) Write short note on conformation of sugar. -T2 TIIY I FHITET |
SET B TEIU W fro fafe | (iv) Write short note on Beckmann rearrangement.

SR qAfaaE R oo fafem)
11.(a) Explain Sigmatropic Rearrangement.
Toargifues qAfd= &l IHeEET |

Complete the following reactions :

your each answer maximum up to 500 words.
; hv
Each question carries 16 marks. Q) (:( — 7

Section-C 2x16=32
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit (b)
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12. (1)

(i)
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... hv
(111) I:i Sensitizer ?

... hv
(111) |< Sensitizer ?
(iv) © v, 16

Explain Photochemistry of vision.

gfee & ThRI-THRA i F9eET |

Discuss various conformers of n-butane and

their relative stability.

n-g2A & Tafu= g&dl iR s emifers wenfa
aﬂaﬂﬁaﬂﬁm 8+8
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13. (a)

(b)
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Complete the following reactions :
» -0
1 + | —> 7
O N,

R

(i) C=N, Vs

R
A
(ili) (CH;),Pb—2?

(iv) CH;—CHO—NaOH |

0O
R

(i) C=N, V0
R
(iii) (CHj),Pb—2 7

(iv) CH;—CHO—N2OH |

Explain Jablonski diagram.

SIc-eh! STRE ! THEET | 8+8
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